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ä
m
u
is
ti
a
.

K
a
a
v
o
ja
:

H
y
p
er
b
o
li
se
t
ja

tr
ig
o
n
o
m
et
ri
se
t
fu
n
k
ti
o
t:

co
sh
z
=
ez

+
e−

z

2
,

si
n
h
z
=
ez
−
e−

z

2
,

ta
n
h
z
=

si
n
h
z

co
sh
z
,

co
th
z
=

co
sh
z

si
n
h
z
,

co
s
θ
=
ei
θ
+
e−

iθ

2
,

si
n
θ
=
ei
θ
−
e−

iθ

2
i

,

si
n
(x
±
y
)
=

si
n
(x
)
co
s(
y
)
±

co
s(
x
)
si
n
(y
),

co
s(
x
±
y
)
=

co
s(
x
)
co
s(
y
)
∓
si
n
(x
)
si
n
(y
)

C
a
u
ch
y
-R

ie
m
a
n
n
in

y
h
tä
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